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1225(55%)) x FEHIZ}F 11,592 ©]

Y

{(RAZH7} 11,5929 ©
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b AEH7E 11,5929 o] RE 59,2929 74419 7: 2019

= [{EIFT FFAER(19,900)-6292) x (1—E]
(T2 HHFREH](19,900)—11,592)} x (1—7HTF
(50%)}] * 3NF77F WL L5(848,626) x 12711€¥

o o 59202918 Holpd

Y R,

T

H3lo] WE B9 Break-even 28 H]

th AZH7}F 592929 o4 A ;1099

= [{(EIB+3 HHERFEH|(68,2000 — 11,592) x (1—74H %
(50%)} — {EIFTE B XEH 6,292) x (1—
(55%)}] * NPT NPL4=(176,299) x 1270 €Y

2) ZHA 1) +2) — 3): 2909

7h FEH 7} 10,9929 ©]ste] A : 4599

S 8

= (AEH7} 10,9929 ola A2 HFZFFH|(9,600) - 6292)) x (0.45)
x (R ZH 7} 109929 ©]3t 719 LH%%J (254,797)) x 1271€

) AZH7F 10,9929 o] A3RE 5329297149 7 ;2604

= {@FT7 HFRAFH(18,800) - 6292) x (0.45) - (AMFTIF HAEA

FH](18,800) - 10,992) x (0.5)} x (NBT7F WL L4(1,256,407))

th XEH7} 53292 o] A ;159

e

= (@I HARFNI61,400) - 10992) x (0.5) - (NI HAHFH]

(61,400) - 6,292) x (0.45)} x (NFTTF WLL4(324,449)) x 1271 €

- 109929 27, AXES 123 SR HEHT,

5329298 EQxd wWsld w2 R 2}9| Break-even ZEH]
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3) ¥ 3 A A 6299

Do { 6,292 x (1-04) x HLY4(1,388,321) x 1270€¥ }

Ct. =Ql5Es ¢alo e 28X 75 248 oyt

o3y ot

) JAZE+AZE 2T 45%
AAE+1AE 2059 55% | 2) ARS+ARE 2T N9 40%

2) IZE T 50%

1) FEH FA 45%
2) M7H FH] 50%

(1) IEH7} 11,5929 ©]3te] A : 399
= {(AFH7} 11,592¢) o3& A HAFANEH9,9009) — 6292) x (1Rl
HEG5%)) x AEHZF 11,5929 olsh 1 HAL5(198,843) x 12(7H)

=

=

o T 11,592(6292)%1 2 x7&, AXES 1HS FERER(EY IEE

o EHE

2) ABHI7} 11,5929 o] dHE 3544207kA19) 2: 14599
= [{EIBT7F HFRNER(18344) — 6292) x (1—ENRDE(B5%) —
(AT HIFNER(18344) — 11,592)) x (1-78 F EoRgs
@5%)}] * 3NB77F WA LG(709,786) x 127
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(3) XFH|7} 354429 o] A 749
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@5%)} — (@B FHEAFH (50100 — 6292) x (1-EQJIRFE

(55%)}] x 3NF7F7F WLL4(315,139) x 1271

W A5 FHIEER + FHIEE 2T 40%
P EHAR AY ) +2) - 3) = 4 179

(1) JEH7} 11,5929 ©]3te] A : 399Y

= {FZH7} 11,5929 o]at A HIEHAFH(9,9009) — 6292) x (1—HIH
FEG5%)) x AEH7F 11,5929 o]at A Ul dY4(198,843) x 12(719)
o & 11,592(6292)92 23&, ANES 1S FEXEEEY IEE
o] 7tEBd
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) AEH7} 11,5929 o) ARE 2749297179 A: 1209

= [{EIFT HE R EH](17,024)
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(AT BFAEH(17,024) — 11,592)} x (1-7/4H & EoRgE

40%)}] x 3NFT7H WL L(638,807) x 127

o T 2749298 EQIREHSlY w2 K 32} Break-even ZEH]

(3) MFH|7} 274929 o] A : 1769Y

= [{ENIBT HTHER(52,830) — 11,592) x (1—-/9 &
40%))} — {(ENFT7 FFAER(52,830) — 6292) x (1—
(55%)}] * N7+ WL L5(386,118) x 12711€

AFHE
o
pd

E =]
E \=]

ot oft
i
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th &5 JER FH9 50%
THHAE AHY A 6269%

= [{(BTFEH 28,6500 x (1—7HH & EJAFFEGS0%)} — (B3R
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